





Part List (WF318645)

@Xl
%

@XZ
—_—

Panel at Footboard
x1

Bottom panel at headboard

Side rails
x1
—

——

—

Wood bar of headboard

@Xl
| S S

Top panel at headboard

@Xl >

Side panel at headboard

@Xl

Side panel at headboard

WS [ S s

@ X3 Q Shelf

@X7

e —

Slats

@Xl
J—

an

Back trundle

Front trundle
x2

Back panel of headboard

Page: 3 of 17




Part List (WF318646)

TN

—_

Left post leg of footboard

@Xl

<)

(TN

Right post leg of footboard

Wood bar at footboard

@X6

\

Back Right Roof Rail

@X4

[ 7

Back Left Roof Rail

X4

& - X/

Slats

@Xl

=)

Left (front) post leg of headboard

Xl
/

Right(front) post leg of headboard

x1

1

\

Left (back) post leg of headboard

@Xl

—

—2

Right (back) post leg of headboard

@Xl

3

Left side panel at headboard

x1
[

Right side panel at headboard

@Xl

N

Wood bar at headboard

X2
\

Middle wood bar at headboard

Page: 4 of 17




Part List (WF318646)

@Xl X3
- = Q

Bottom wood bar at headboard Front panel of headboard

Page: 5 of 17




Hardware List (WF318645)

No. OUTLOOK DESC QTY
@ Dowel @8*30mm 26pcs
Bolts M6*100mm 12pes
@ Bolts M6*70mm 8pcs
(D) 7> Bolts M6*30mm 6pcs
@ &2 Cross dowel M6*13mm | 20pcs
@ < Cross dowel @10*10mm | 26pcs
@ “\W Flat head screw #8*60mm | 26pcs
@ @“““W Flat head screw #8*30mm | 34pcs
@ ‘W\‘\w Flat head screw #7*12mm | 52pcs
@ ™ Round head screw #8*15mm | 34pcs
@ @D PatL l4pcs
@ Base L small 4pcs
@ % Wheels 4pcs
@ Pl Allen key 60*22*4mm Ipe

ASSEMBLY TOOLS REQUIRED (NOT INCLUDED)

Page: 6 of 17




STEP 1:

STEP 2:

Page: 7 of 17




Ipc

4pcs

4pcs

4pcs

Page: 8 of 17




STEP 6:

Page: 9 of 17




4pcs

6pcs

12pcs

4pcs

Page: 10 of 17




STEP 9;

2pcs

2pcs

STEP 10: '

|
.&

|
/
/
1 e
\ Y
1 yd
\ .
3 \ L
\
3k
!
\\
\
\
\
\
\
\
\
\
)
h
/
\
/
\\ 1
AW
VA -
\
LY
L]

Page: 11 of 17




2pcs

STEP 11:

Q/\/\/\

<

AV/A

& &

STEP 12:

Page: 12 of 17




STEP 13:

2pcs

4pcs

2pcs

6pcs

6pcs

STEP 14:

|/AVAVAV

&

Page: 13 of 17




STEP 15:

34pcs

Y IN/ N/ /4\

STEP 16: |

Page: 14 of 17




Ipc
4pcs
20pcs
8pcs
4pcs

AN

%

STEP 17:

A\ AN 7AN
/. \ /4 \ /. \
/A A
DI
AN .o
MDY 2
;/‘ Y o
w\},:.\::;{\.:
Ny R
=/
7
i N
/)
) »
7 -
a
N
¥/
7/
N

vvvvvvvvvvvvvvvvvv

)))J)e

() oooom
=4)))

STEP 18:

Page: 15 of 17




14pcs

16pcs

STEP 19:

STEP 20:

Page: 16 of 17







